Do Now (3/6 & 3/9)

Geometric
Sequences...

Geometric Sequences and Series
Section 6.7

Warm-up: Fmd the next three terms of the sequence.
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Definition of a Geometric Sequence
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Example 1: Write the first five terms of the geometric sequence whose first term is 3 and whose
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The nth Term of a Ge
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Example 2: Find the 15" term of the geometric sequence whose first term is 20 and whose common
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Practice Problem 1: Find the ninth term of the geometric sequepcs
common ratio is %a.

t term is 4 and whose




Example 3: Find a formula for the nth term of the following geometric sequence. What is‘he ninth>
term? {
1

J15,45,... = a, -

(n=53"Y 54/339

Practice Problem 2: Find a formula for the nth term of the following geometric sequence. What is
the tenth term?
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When you know any two terms of a geometric sequence, you can use that mformatlon to find
a formula for the nth term of the sequence.

Example 4: The fourth term of a geometrlc sequence }ls 125, and the 10™ term is ﬁ Find the 14"
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The Sum of a Finite Geometric Sequence )
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Practice Problem 4: Find the sum: 1232[&]” z( l-’ (q}l S'>
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The Sum of an Infinite Geometric Series

Formula:
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Practice Problem 4: Find the sum: Z2(§] ( l—/ ( ‘-.l’) >
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The Sum of an Infinite Geometric Series

Formula:

Example 6: Find each sum
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